

### 1.3: Komplexe n-tupler

1.)  $s\vec{x} + t\vec{y}$ :  $s=i, t=1+2i, \vec{x} = \begin{pmatrix} -4i \\ 2-i \end{pmatrix}, \vec{y} = \begin{pmatrix} 2+i \\ 2i \end{pmatrix}$

$$s\vec{x} + t\vec{y} = i \begin{pmatrix} -4i \\ 2-i \end{pmatrix} + (1+2i) \begin{pmatrix} 2+i \\ 2i \end{pmatrix}$$

$$= \begin{pmatrix} 4 \\ 2i+1 \end{pmatrix} + \begin{pmatrix} 2+i+4i-2 \\ 2i-4 \end{pmatrix}$$

$$= \begin{pmatrix} 4+5i \\ 2i+1+2i-4 \end{pmatrix} = \begin{pmatrix} 4+5i \\ 4i-3 \end{pmatrix}$$

3.)  $\vec{x} \cdot \vec{y} = (1+3i, -2i, 2+3i) \cdot (2, 1+2i, -1+i)$

$$= (1+3i)2 + (-2i)(1+2i) + (2+3i)(-1+i)$$

$$= 2+6i - 2i+4 - 2+2i - 3i-3 = \underline{\underline{1+3i}}$$

4.) Vis:  $\forall \vec{x}, \vec{y} \in \mathbb{C}^n$

$$|\vec{x} - \vec{y}|^2 = |\vec{x}|^2 - 2\operatorname{Re}(\vec{x} \cdot \vec{y}) + |\vec{y}|^2$$

$$|\vec{x} - \vec{y}|^2 = (\vec{x} - \vec{y}) \cdot (\vec{x} - \vec{y}) = \vec{x} \cdot \vec{x} - \vec{x} \cdot \vec{y} - \vec{y} \cdot \vec{x} + \vec{y} \cdot \vec{y}$$

$$= |\vec{x}|^2 + |\vec{y}|^2 - \vec{x} \cdot \vec{y} - \overline{\vec{x} \cdot \vec{y}}$$

komplexkonjugiert

$$= \underline{\underline{|\vec{x}|^2 + |\vec{y}|^2 - 2\operatorname{Re}(\vec{x} \cdot \vec{y})}}$$

NB:  $\vec{x} \cdot \vec{y} \neq \vec{y} \cdot \vec{x}$  for  
komplexe n-tupler  
(generell)!!

Vis:  $(\vec{x} + \vec{y}) \cdot (\vec{x} - \vec{y}) = |\vec{x}|^2 - 2\text{Im}(\vec{x} \cdot \vec{y}) - |\vec{y}|^2$

$$\begin{aligned} (\vec{x} + \vec{y}) \cdot (\vec{x} - \vec{y}) &= \vec{x} \cdot \vec{x} - \vec{x} \cdot \vec{y} + \vec{y} \cdot \vec{x} - \vec{y} \cdot \vec{y} \\ &= |\vec{x}|^2 - |\vec{y}|^2 - \vec{x} \cdot \vec{y} + \overline{\vec{x} \cdot \vec{y}} \\ &= |\vec{x}|^2 - |\vec{y}|^2 - 2\text{Im}(\vec{x} \cdot \vec{y}) \\ &= \end{aligned}$$

### 14: Vektorproduktet

1a)  $(-1, 3, 2) \times (-2, 1, 7) =$

$\vec{i}$	$\vec{j}$	$\vec{k}$	$\vec{i}$	$\vec{j}$	$\vec{k}$	$\vec{i} = (1, 0, 0)$ $\vec{j} = (0, 1, 0)$ $\vec{k} = (0, 0, 1)$
<del>-1</del>	<del>3</del>	<del>2</del>	<del>-1</del>	<del>3</del>	<del>2</del>	
<del>-2</del>	<del>1</del>	<del>7</del>	<del>-2</del>	<del>1</del>	<del>7</del>	
$\swarrow$	$\swarrow$	$\swarrow$	$\swarrow$	$\swarrow$	$\swarrow$	

$$-2 \cdot 1 \vec{i} - (-1) \cdot 7 \vec{j} - 3 \cdot (-2) \vec{k} + 3 \cdot 7 \vec{i} + 2(-2) \vec{j} + (-1) \cdot 1 \vec{k}$$

$$= -2(1, 0, 0) + 7(0, 1, 0) + 6(0, 0, 1) + 21(1, 0, 0) - 4(0, 1, 0) - 1(0, 0, 1)$$

$$= (-2, 0, 0) + (0, 7, 0) + (0, 0, 6) + (21, 0, 0) + (0, -4, 0) + (0, 0, -1)$$

$$= (19, 3, 5)$$

2.) Areal av parallelogram utspent av  $\vec{a} = (-2, 3, 1)$ ,  $\vec{b} = (4, 0, -2)$ :

$$A = |\vec{a} \times \vec{b}|$$